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Multiplication - 1

1.12575X30 =
a) 376250 b) 377250
c) 378250 d) 367250

2.65x1782x45=1782x45x

a) 45 b) 1782

c) 65 d) None of these
3.74527x 23 =

a) 1614121 b) 1724121

c) 1714121 d) None of these

4. Find the product of the tenth multiple of 5 and eighth multiple 9.
a) 6600 b) 4600
c) 5600 d) 3600

5.46578 x 100 =

a) 4567800 b) 4657800

c) 5678400 d) None of these
6. 475 x 235 = 475 (200 + +5)

a) 35 b) 475

c) 235 d) 30

7. Each day 412 buses depart from the bus terminal. How many buses depart in a year?
a) 160380 b) 150380

c) 170380 d) None of these

8. John studies for 240 minutes each day, for how many hours does he study in 30 days?
a) 110 b) 100

c) 120 d) None of these
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9.4078 x 1009 =
a) 4114702 b) 4214702
c) 4014702 d) None of these

10. In a year a factory manufactured 2755 bicycles at an average per week. Determine the total
number of bicycle manufactured by the factory for the whole year. Hint 1 year = 52 weeks.

a) 142260 b) 143260

c) 143360 d) 143460
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